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V1Sxm=3n 5m= 3n 
vi y:3x /3y=3x-
vi 30 =P 

ii 33-z=y- 
12XxSz / 12x =5z 
12Xx 5z 2x >5z 
xi 12 xx<5z = 12x 5z 
Xi1)45- 32 = y- 
xi2xiy = 2z 

Xiv5xty= 8z 

x y- 5x = 82_ 
equalto- 

The um ak 8z and a 6. 
HSea decreasud by y greaker than z 
i4dereased by 2 Amalley_han 2 

5divided by z i * 

he um ak aand 2h AReater than 18 

vi2z_decreased by84 egual ~o l6 
Vi 3a decrned by 4b i gaater thanl4 
ViIE b added to Fa is snaller than 24 
ihe um ng 16 and 2a decreased by 2A gneatet than 25 

The uun o 3z and 12 derceaud by yis Smaller ban Ba 


